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Write the following in repeated factor form, then as a single exponential. What d notice?
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&) Power of a Power Rule: kﬁlﬁ) = a""

When we raise an exponential to another power, we fH u ﬁE {E the powers and keep the
€__ the same.

For example, write as a single exponential:
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Write the following in repeated factor form, then as a single exponential. What do you notice?
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- power of a Product Rule: (ﬁ'\.}d))n: éLn 1S éJn ‘

When we raise a product (multiplication) to a power, we can take each part of the E@&Cﬂj’
and raise it to the same J{Jﬂ Wev—

For example, simplify to a product of exponential(s): flﬂf“ II::,‘J}’E}d/l_.Qf @ YUKQ_
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Write the following in repeated factor form, then as a single exponential. What do you notice?
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4 Power of a Quotient Rule: -(%)’1 = @b )ﬂ: %T,‘

 Guebert
When we raise a pgagitigt (division) to a power, we can take the [ “ﬂéﬂamf as well as the
w and raise both to the same |EL¢J‘E .

For example, simplify to a fraction:
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All of these are WRONG!! Explain why and fix the mistakes| E‘H
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